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d.

The number of values of 1 sansfying

x+ — = 50 where 1 is a namral number
X

less than ot equal e (0] b5
(a} 51

B} 53

e} 55

(57

What 13 the sum of digils of the jeast
multiple of {3, which when divided
by &, K amd 12 leaves 5, 7 and |1
resipechvely as the temainders 7

(a) 5
(B} &
(e} 7
(dy %2

A milkman clains o scll milk at s cost
price omly. Bxll he is making a profit of
Z0% singe he has mired some amount
of water in the milk. What is the
percentape of milk in the mixmre ?

200

(2) —3—%

i T
] I

- — .
What is \|I4+1,,I-I—a.'r-1+~..n'4— ..............
equal o ? '

{a} 3

"."ﬁ—l

{b)

B-ABYBO-GPFU - A z

. The largest

—
ic) y1li+1

dy 0

natural number  which
divides every natural numbet of the foom
(A’ - WHn -2}, whete n is a natural
number greater than 2 is

B

(@ 6
by 12
() 24

(d) 43

. The average of ‘w numbers s n* and

the average af a numbers is w' The
averaye of (o + 1) numbers is

(a} mn
b i B
{L:} malm® +

(@} maim®+ 8° — o)

. The digit in the wnits placs of the

reselting number of rthe expression
(2343'% + (2341 5

{fal 6
b 4
{) 2

{d} @




1. :+E:~51}iﬁ, Al 2 100 100 S =
X

o TS #, A = aE ¢ & A
T g R ¢

fa) Sl

by 53

i) 55

iy 57

3 F I9 Aae e &k, B oal g, 8

# 12 % fawmbm fwm o 31 w2 s,

7R 1L e T, A W T

o &7

{a) 5

) 6

{cy 7
8

(d)

. U g Tt gy Y e wem g W
s &1 g Fon & | ofe am ot =
20% W WE W Fa) ¢ R =8
@ Wt & g@ A fie ¥ R
o0 Ft wlteyman et &0

200
{a} T

ol T5%
{c) B0

{d) 2%%

%

ﬂ."ﬁ+]

e —

(d} O

| . {1’ —rka = 1), Rl & 2 W F, g

¥, & veR AW geE g =t b
FA AT AR wAlE 3N om A e

(a} &

L P

c) 24

(d} 48

. m TERTAT X ated At R S EmAl

T HET m* B 1 (e + w) FEH FT A
R

(@) mn
T m o+
(c) mmim’ + )

(d} m-'T{r-"i"iz ot - nur)

. T (234" + (234 oy ot we

i TR w5 o vy R
{a) G
®) 4
e} 2

) 0
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R. If c=~3+2, then the value of _ {a} 225 m

I3+I+l+$ 15 (B 230 m
X
. (e} 2400 m
fa) lﬂwﬁ
' fdy 250 m
B 20473

4
11, A fin of il was —~ [ull. When & bottles

{c) 12 af oil were taken out frorm this Gin and
4 botles of o were poured mbo it, it

1
was i full, Ol of how many bonles cai

i 2042

the #in contain ? {All bottles are of equal

volumme)
9. The valug of 35
a
1 1 ; 1 : (a)
s a7 7x10 T Texte ¢
(b 40
5 fc} 45
W = ‘
19
(dy 50
SR g
19 12. A number when divided by 7 lcaves a
remdinder 3 and the resulting quolient
when divaded by 11 leaves a mermainder &
fc) 5 If the same mnmber when dnnded
' 1% by 1l leaves a remainder m and the
rezulling  quattert  when  divided by
T leaves a3 remainder n, Whal are the
i kS values of ar and o tespectively 7
1%
{a) 1l and 4
1. T@ traing aTe MOving in the zame 0 4 and I
direction ot 1-3 kmosminute and 60 kmS
hour respectively. A man 1 the faster .
train observes thal it takes 27 seconds (o (cp 3 and 6
ctoss the slower tram. The ength of the
slower frain 15 (dy 6 and 3
B-ARVE OGP — A |




g, °E x =347, T x"".+x+l+ !
x

10.

~ =
57

AF W R Y
(@) iﬂa"i
) 2043
(€} 1042

(dy 22

1 i 1

+ F—— bt
Ix4 4T TxI0 16x 19
ae w1 R 7

(a) —
W —
€] —

9
Ed}ﬁ

21 sl wEw 15 km STiE o

G0 lan ST 0 WA Bem oo o By
GERICE G IR E Rl s oo
& ot fa T+ S A TR = i
27 #F2 W & | o afa S e
&t @ET = f 7

1.

2] 22sm

b} 230m
() 240m

{d) 250m

ﬁﬂmﬁﬁm%mgmmiﬁﬁﬁ'
#H 6HAEAT A e W A T
4%%%%#%%%@
Ay | fmt 59 S 39 o awan 2 7
(At st = e Tmm B

(a} 23

{b) 40

") 45

12,

{d 30

Tt e =t o2 7 @ Franfe fem am
A 3 imre T g, ofw TR oA
WO & 11 % Ak fEm o 3 g
R waT B 1 gl SHl GEar o1 F
et T =0 A1 o SRR w2
s gt wrrEA & W= 7 ¥ frmfas
Formm om0 &1 p Sowd ==AT B AR R
% EHY WM W R Y

fa) T HN 4
(] 4 M |
fc) 36
(dy &3
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11, Consider the [0llowing in respect of the

I| a
equation P=M
=—1
L y=11ix>1
2 y=-lifx <1

3 ¥ exists for all walues of x

Which of the above staterments is/are
ourrecl 7

2) 1 only
by 2 omly
{¢) 1 apd 2 omly

(dy. 1, 2 and 13-

14. If (x+ 1} is the HOF of 45" + B+ O
and By +.dx +  where A # &, then the
value ol s
fa] A
(b &
fc) A-B

() 0

15. The seven digit .oumber 376p37g s
divisible by 22135, The values of p and &
can be tespecihvely
fa] & o
) 0
i) 03

i 9 s

‘B-ABVR-O-GPU - A

8. If &, 6 and ¢ satisFy the &quation
-3 +2Ix+1=0 then what iz the

i 1 1
Yalue of —+—+— 1
a b r

(3) i
2

b 2
() -2

|
41 —
() .

17. 4 and B are two taps which can fill
a tank individoally in 19 minutes and
20 minutes respectively. However, there
15 4 [eakage at the bottom, which can
empty a filled tank in 4 minutes. IF the
lank iz empty imitally, kow much yme
will both the Lps 1zke 1o fill the 1ank
wilth leakape ?
(a} 2 minutes
(B} 4 mintes

{z) 5 mioulcs

{d} 3 minugs

1. Which ane of the following is comect 7
@) 2 <¥6 <4
B ~2>4%6=34
) 46 <2 <34

(d) 46 =2 = 44




14,

15,

) y=—|1?lﬁx-f |

. oF it amt % fmooa afews
?

Tof w8 WA A
{a) oAd |

(b} e 2

ich ﬁrwmmnﬂ

d 1,233

e A2+ +C AR B ax+ O,

WEE A 2B, AW WRIGGAE o+ 1) £ AT
CHOHE ¥ 7

fal 4
Lo
cy A-8

{dy 0

WA FR T WEAT 876p37q, 225 F AT

AN E G E S e

#?

{a) 9.0
) 0.0
(£} 0,5

s 9,5

16.

i

18.

TR 2, hil o, TR L — 3 v 2+ 1 =0
T TE F F, A -};+£+£— 1A

7

1
(a) _E

by 2
(e 2

|
.
{d} 3

AWR BT Aw & W wE EH F -
om0 R e d o
T 1w T S e T 9T R, A
Wi g 7 F a0 B § 9t w o
&1 ofe 78 ymn ® mwr &, oI s
o w2 = owm o e a7
(a) 2 iz
) 4 fme
{c) 5Trme

{d) % Bz

et A AR oo W R
(a) +2 <6<
(2 >46 =44
(2) Yo <2 cifs
d V6244
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19, The value of a sinple discount on 5o
amount wlich is equivalent o a series of
discounts of 19%, 20% and 4094 on the
SAME AMOoURL, 15 equal to
(a) 43-2%

b 30%
(L) 56-8%
(d) 0%
0. If k¥x -y+ 2 where -2 x= |,

—-l=v=2 and 3=z=6, then which

one of the following is corect 7
fa} D= k=0

b} 3= k=]
fg) 2=k=i4

{d) X=k=11

21. The mrmber of paies {x,
2lx+48p - 5 s
fa) Fam
(b1 Cne
) Two

{d) Infinity

22, Let ¥ and p be positive intepers such
that x 13 pome and » is composite
Which of the following =iatements ane

coiract ?

1. {¥-x) can he an pven integer

2. ©¥ <an be an aven inteper.

3. 5(x + y) can be a0 &ven nleger

B-ABYB-O-GPLU - A

¥] when: x, ¥
are Infegers  satisfying the  equation

13.

4.

Selecl the comect answer
code given below !

LA

the

(@) 1 and 2 only

(b) 2 ard 3 only

{£) 1 and 3 only

fdy 1, 2 and 3

Let ¥ and » be posibive milegers such
thal x = p. The ¢xpressions 3z +2v and
2r+ 3y when divided b § 0 lewve
emanders I and 3 respectively. What
12 the remaindet when (x - p) i5 divided
by 57

(a) 4

M 2

() 1

W) 0

In atace A, B and C take pant. 4 beats
8 by 30 m, & bears 7 by 20 m and
A beats O by 48 m. Which of the

(ea]loww amyg ns f are ot 7
. The length of the rage s 300 m,

2. The speeds of A, B and  are in
the matio 50 45 ; 42,

Select (he commect -amswer wsimg  the
code given below

@y 1 only
(b} 2 only
i) Baoth | and 2

() Menber 1 nor 2




19.

it 8

21.

2.

Tt il oL v g w1 AR oW A 9
Tifin o 19%, 2004 3R 400, i firaficEm
W& EEL R, WU R 7

{a) 43-2%

() S0%%

(c)  36-B%

(dy 0%

T k=x—p+2z W 2=z=l,
“l =y s 23R 35 g = g, o Tl &
W oA o mEr R ¢

@) 0=k=9

b s=k=IIl

(€) 2=k= 14

W) 2=2h=11

T 21x + 4y = 5§ F1 UL T AT

Tt (z, v} B, T x, o TOF §, TEn
Pt 87

{a) ¥A
b T
(&) A
fd) ¥
A sty o y @ TR e

£ 5 x 7T & A wr & | feefafam
A A W oAAE oA 2E

I {y—x) o Fqmiw & w2
2. xy T WA BN Al #
1. 0-5(x + 3} TF TEQUIR B AFAT X |

23.

24.

I ORE T g oW w A T
o

(2) A | AT 2

by SEw I W3

(e} A 1 ofha

dp 1,233

TR Wi« ARy W TR % T
E iR r>p® | 9 sl o4 2y R
te+3p W §# fmfrg Bew owmoar
FAY: 2 AW 1 iwEd =w4 ) Tw
{x -y F 3% Forarfma T = A S
ce il

(a) 4

(b} 2

{c} ]

{dy ©

AR adReTm R T AR
T 30 m T VR G A, B,CF Wm
Of B oel & M A, O %7 48 m 9T
2z 2t ¢ | Tymafefas & =Yq o %
RAET

). g &1 7= 0 m 2

2 A R CF TR 0454 F
aim F O
R W o W wEm R A I
T
(a} = |

by FEW 2

{e) 1 3fte 2 g
(@ TATE2

B-ABVE-(-GPL - A




15,

26.

17T

I the roats of the quadiatic equatiun

F—dz- lag & =0 are all real, then the
tinirmam valoe of & i

1
{ —
3) 105

|
{h}. 000

© oo

fd) 10000

A motor boat, whose spoed iz 15 km/
hwur i still warer poes 30 km down-
steam and comes back in oa wotel of
4 hour and 30 minutcs. The speed of the
sAtearn is

(&) 4 kS hour

it} 5 km/hour

(<} O ban! our

(d) 10 knnfhour

If 4 men working 4 hours per day for

4 days compleiz 4 units of wotk, then
how many units of work will be

completed by 2 men working for 2 hours
per day in 2 days ?
(2} 2

(b 1

(c)

B |

dr

B-AEVB-O-CPU) — A

- 28,

29,

M.

By increasing the speed of his car by
15 km/'hour, 2 person covers 300 km
distance by taking an hour less than
befure, The ooginal speed of the car
ey

(a] 43 kn'hour
(B 50 jan/howr
(z) 60 km/kour

(dy 73 bk Teour

If m persons can paint & house in o
tlays, how many days will it teke for
(m+2] persons to paint the same’
himse ?

{ay m+7

{b} e -2

m+2

{e) —

med
mi?

{d)

If a:h=3:5 and b:o=7:8, then
2a ;3 Te is egua) w

() 42 @ 105 : 320
b 15 : 21 ; 35
(c] 6: 1540

{dy 30: 21 : 35k




25.

26,

2T,

7fg fam T 2 - 4x - log W =0 &
U A awdldw &, T N & e A
7 £ 2 : ’

i

{a) ﬁ

|
®

1
T

(d) 10000

o A, Pt S sE g e A
15 kam /e &, A i fnn # 30 km A
& o oo 49 o 20t & arm o
¢ lum TR ko

{a) 4 lan /e
(b} 5 km /9

{ch & km /HET

) 10 lan S

Tt 4 =T WA 49 T =, 4T
H 4 T wH 99 w0 #, A 3t =6
2w ufafew wnf &, 2 At # et
wE wE g w6

{a) 2

b 1
|
{c) E

1
a3 =
(3} 2

11

18.

29,

J0.

T = A TR A 15 km 0
A T I00 km F T TR = gA
H U HE oW WRE R T we | R
I I W G 7

(a] 45 ko /9

(b} 50 kan /T

() G0 ke /5T

{dy 75 km S

g m=fhe o W w T § O =
v &, 3t (e + 2) TRFET F TH W T2
4 # et fem ofit ¢

ia) md+2

{2

(o] ——=

id}
e ach=3:5 AT hio=7:5 @
20 3h: T fFEE R B 7

(a)] 42105 : 310

(b} 15 : 21 ¢ 35

fel 6o 15 40

dy 3021 : 350

B-ABYEB-O-LPU - A
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M. Two waing, one i3 of 121 m in length

AL

.

at the speed of 40 kmdhour and the
other is of %9 m in length at the speed
of 32 km/hour are nuinning, in opposite
directions. In how much time will they
be completely clear from each ather
from ie inomnent they meet 7

fa} 10 s
M) 11s
{e) 16 s
@ 21s

Three athletes run 3 4 km tace. Their
specds are n the oo 16 15; 11. When
the winmer wins the race, then the
distance between e athlete in the
second position to the athlere in the thind
poSIOn i3

(a)
B ) m

10CHY

{c) 750 m

() 600 m

ﬁ'lt: sumi ol fimst 47 emms of the series

T I
_—t—m—— —t—t—=——= .. 15
4 56 4 5 6 4 5 g
@ o
I
I!be—E
]
i.'clﬁ .
'i'liJ'!;L
M)

B-ABVB-O-GPFU - A

12

3.

35.

36,

Which one of the following is correct ?

{a}

(x+2) 15 a faclor of
AR L | PL V]

M) (c+2)is 2 Fctor of

Arnr - 1+ ax - 12

(e} fx—2Y 15 a faclor of

X o6 4127 - 24+ 12
{d)

{x -2 5 a factor of
2 - 126 - 2ar- 32

2% of 2 number when added 1o 20
becomnes the number itself, then the
number 15

{4}
{b} .
(e}
(e

20
23
M

il

Consider the follawing statements ;

1+tnniﬂ_('l—tan8

2
= ] 18 trua for
l+cole L 1-cotd

alcaZ gz,
p 4

2. mtﬂ=—|- i5 true fir B = 5% only.
tand
Which of the above =igtements is/are
cotrect 7 .
(a} 1 omly
() 2 only
(c) Both | and 3

{d) Meither 1 nor 2




A, 7t e, % fedt TR 121 m
40 km /T 1 == & off g, P
TEE wm #, 32 km /90 F 9 #,
fradta fhenad o o = § ) Ak T
¥ gm &, ot omm A F TR g R
T owE TR TR A ¢
{a) 10z
(b 11 8
(g} 16 %

Wy o=

32, T faErt 4 km 1 S S # | =0
ﬂﬁlﬁ:lﬁ:]l%ﬁﬁﬂﬁ!ﬁﬁﬁm
% i e 2, @ e ot dRR R
W A Faentit & = g T d v

_ () 1000 m
{b) B m
c) 750m

(d] e m

33-1- m-tm——————t+—3—%

* waw 479k T St v B P

(a} ©

3, frfafaa # & s m % 7t & 7
Coqa) K- 1 - x4 32
myﬁagﬂm{x+1}%
thh 2+ o - 126 + 24— 32
T TF HEE (x+ 2) &
) x'—fc + 127 - 245+ 32
T O TET (x - 2} E

() x*+ 6 — 125 + 240 - 32
1 TF UEEE {x— 2 B

35, T2 PR e o 20% % 20 SR T
= TR RN A AE §, & A W
o i O
{a) 20
{t) 25
for 50
idy 20

16, Grafafrs wot = eAwr i .

¥ _ 2
. I+tan H_{I tanﬂJ R

[+l L 1—cord

mm%,a:%%ﬁqmga

3 :nlﬂ=-—-—]ﬂ. e g =45 ¥ P

tan
a9 B

Trim Wt ¥ P W R
{2) F1

(b) e 2

16y 1 HR 2 5

{dy AATL R B2

I3 B-ABVB-O-PU - A




y

VLI .r acnsﬂ and ¥=hcotd, then
o — by ) + 87 s cqual 1o

(a) @
(b) |

{c} tan’g
(d) sin'8

cosd
1-sind

8.

is equal to [wher: £ # g]

tang =1

*) tand -+ 1'

1+ s5me
cosd

)

tand + 1

(<) tani - |

1+cosd
simd

(G}

3
tarx + 40V Nz + 201" tan (3= tan) 70 -

IFan( - x* = 1,

then the value of x is equal w
(2 3

& 20
fc} 15

@ 10

B-ABVEB-O-GPU - &
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4l] If % is an acute anglc and sinfcosd =

Teos’d -1 Seosd, then whal js sipd

equal te ?
. *.-'Iﬁ- -1
a
(a) 7
—.f5
hy -5 .
q
"-."E +1
(c) y
~.,l'§ +1
(d} 7

#1. Consider the following statcments -
1, sind6° i3 [ews than cosbe®
2. 31267 i3 less than cos?a®

Which of the above statements i&/ are
camect ¥

{a) 1 only
(b} I anly
{c) Both | apd 2
- {d}  Neither 1 nog 1-

AL it a and b ate positive, then the relation

Zu+ih

sine = 15

{a) nol possible
th}  possible only il o = &
{c] possible if g = b

(d) possible if g < b




3T Hﬁ.x=amsﬂ Hﬁ ¥ = reotd il
o = by Wer T+ b " R AR R T

(=} o
) 1
{) s

(d) sin'd

33, 200 {?IT;;I‘ nxg] s TR B 7

11— sint}
tang -1
tal tang+1i
i + 5
{b} p
() Land + 1
Lanf?— 1|
I+cos @
simd?
39, Tfy

Lan{x + 40)Lan(x + 207 taa{3x @ 70 —
X3 an( 50 — 0 = |,

A x T OAE TR Y

(a] 30

by 20

{cp 1%

{dy 10

15

40. At § TE AR B AR sindoosd =

TeodB - 15cost, o sind o wm

A

41.

(a)

) ——

el

W -

frafifim Fadt o e fifim

1 sing6®, cosel” T FH B |

2 Rin26°, cos26° W FA T |

T wt o A om m s h e R
{a) oA 1

b} = 2

() 1 AR 22

() T AL, A2

42, A% o 7 v # 91 "6

_la+3b
3

sanf}

{ay wwa 7w}

(b o 9% 799 & @A 2=4f
() HWA R TR ab

) 75 & g a<s

B-ABVB-O-GPU - A




43,

4.

43,

An aeroplane [ying at a height of
3000 m pagses vertically above apother
aeroplane at an wstat when the angles
of elevation of the two planes Fom
some point on the pround are 607 and
43%  respectively. Fhen  the  vertical
distance between the two planes is

fa) !H}I)l]{qri - 1} tny

A pole 1= standing ercct on the ground
which 5 hoozontal. The &ip of the pole iz
tied tight with a mpe of length 12 m to
a point on the ground, [f the rope iy
makng 30° with the hotzontal, then the
height of the pole is

{a) 24im

{h] 32 m
g) Im

() +3m

[f and +s5ccl = 2, then 2nd s equal W
3

tay 2

w 2

@ 3

5
4 =
{d) 5

B-ABVB-O-GPU - A
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44,

47.

48.

A's salary was inereazed by 40% and
then decreased by 20%. On the whele
A’z salary 15 increased by

fa) 60
{b) 40%
{c} 20%

¢) 12% |

A number consists of two digits, whase
sum 15 7, If the digits are reversad, the
number is incressed by 27, The product
of digits of the number s

2y &

LI

feh I

o

In a race of 180 m, 4 beats B by 4m
and 4 beals by 2m By how many
metres (approximately’) would ¢ beat 8
1 ancther 10 m race assuming C and &
run with their respective speeds as in the
garlier race T

{1y 2
{b} 204
fc] 208

Wy 32




SR TTEN S e § e R = d

43.

45,

M0 m F I T I T U N
A=A ot Tt gard Aerw & el Fwe
# z9 & TEen & T TN EAR e
A & fat famg & w600 ofke 450
¥ v wm W E, A T g T
¥ e # svafuc zit o & 2

{2} m:}o{ﬁ—l}m
{h}.I{HIHHEm
{c} ]ﬂﬂ[(]—u'ﬁ}m

() 300043 m

. T W A e A g @ wd

=1 311 13 m A 1 7% T e
* e forg & Wi = Ty w &) O
w, AR & o0 w1 Fmoa o R,
xRN EE e

fa) 2-3m

(b 32 m
€} Im

W vim

2 fanf+ secd =2, At tand T T
27 -

(a)

| Ln E o

(b}

b | e

(<)

()

46,

47,

48,

17

AT ST Ml FRm T 6T PR 200
AL T b TR R 4 oA
1 7

(2} 60%
b} 40%
) 20%

) 12%

S wE 2 W i oa B, e T
7% 7 3= F w=m wen R fim
wrd A wEn § 27 9fz w oAt #
HEE F FE W AR w7

(a) &
(b} &
) 10
iy 12
lmmﬁfﬂ#ﬂ?ﬁ. A BT 4mTE
M AT 4 O 2T BE R
it amw 100 ot D7 #, oo e
o pwdt s s A A £ =

Al @ ® =4, O, 2% B e
dte B ?

{a) 2

by 204
(c) 208
Gy 32

B-ABYE-O-GI'U - A




49,

50.

51.

in an election 19% of the volers an the
voter list did nal cast thoir vote and
6t} voters cast dheir ballot papets blank.
There were only two capdidates. The
winneT was supporied by 47% of eotal
voters in the voler list and he got 30
votes mode tham his tvel. The numbet of
wvoters an the voler Jist s

fa} e
o))
()

(I}

Ry
B2

t]C)

Cansider al} positive two digit numbers
cach of which when divided by 7 leaves
a remainder 3, Whal iz their sum ?

fa} el

(b} G

{c) 675

y T

A pipe with smarc cross-section s
supplymyg waler 40 a cistertt which was
mnbally empty. The area of cooss-section
is d o’ and the narzle velocity of water
15 40 m/s. The dimensions of the cistem
are 10m = &ma&m Then the cisterm
will Ba Ml in

(a) 95 hours

(b} 9 howrs
fcd & howrs 20 minues

{d} & howrs

B-ABVEB-O-CP) — A

1%

51.

W6

54.

A hellew cylindncal dnmn has jntemal
diameter of 30 cm and 3 height of 1 m.
What 15 the maximum number of
cylindncal boxes of diameler 10 cm and
height 10 cm each that can be packed in
the dram ¥

[a) 6O
{by 70
{c) EO

{d) B0

- The .SFI-BEHS‘. uf three buses are in the

raio 2.3 :4 The ume aken by these
buzes to mavel the same distance will be
in the ratiy -

{(a} 2:3:4
(b} 4:3:2
{c) 4:3:6

4.3

A square and an equilatera| mangle have
cqual penimeter. IF the diagonal of e

squate is ILE om, then the atea of the
imangle 15

fal 242 om?
(bl 2443
{c] 483 om®

() 6443 o’




4y, Tl wem 3 woee I ¥ 10% TR

51.

¥ 3 wE T EE AN 60 WAl A
T TETET FogEt o B =
FEHIEAR 4 | FEm T et & 3

TAETEAT & 47% = oA fiem ol s

ATA Whges! ¥ 308 ¥ M W |
wrEE ger § A 7 Een B
B 7

(A} JesMd

() &200

(ch G2

() G400

. F T oM TS SEnE W

e FHifqn, e A & wT & 7 H
it wa o S 28 L T A
LU
(a) &A1
(b b
() 676

oy 777

TRl HTT THwET AT U A O
FhL 3, =t fF MW A Tt g, 9
o FTm ¥ | wwey g R ERTA
4om’ ® AR WA ow G &N (AR
AWM 4 mes &1 T F fad
Wm=Em=&m & | A @ 7=t few
wAG WA 7

{a) 5-5 =ET

(by 9 =

(¢) ¥ W 20 T
(d} A =

19

51,

53,

34,

TF EIES AT S0 F HiafE wm
3ﬂm3ﬂ1m1mﬁlm+mcmﬁﬂm
M 10 e AT A6 SEEERT wwEl S,
At for ow H & o e ¥, writeaw e

=R
{al &0
(70
i) 80

(dy

i = F A 23 4% am d
o FHT R G T A TR H e A
w0 swE W ORen 7

(ay 2:3:4
by 4.3:2
) 4:3:6

dy &:4:3

wF T W T wwarg A & s
w2 afe o % Feed 12472 cm B,
a1 fagm &1 g wem & 2

(@) 2442 cm®

{s]] 241.5:;1“!

ich 4847 om?

T

B-ABVB-O-GPU - A




55.

34,

A boy i cyching such thay the wheels
of the cycle sre making 140 revolutions
pet minuiz, I the radius of the wheel is
e, the speed of the cycle is

{a} lfr-jiktlh"h:}ul'
(b 1584 kanshawr
{e} 16 kan/howr

Wt 1636 kanShowr

There are 437 fruit plants in an orchard
planted in rows. The distance betweep
any two adjacent rows iz 2m and the
distance  beiween any we  adjacent
plants is 2m. Each row has the same
number of plants, There is | m clearance
on all sides of the orchard, What is the

cosl of fencing the area at the mic of

Rs. §M per metre 7
{a) Es 15600
{6 Hs. 16,80

(e} Rs. 13200

- {d} More information e requinsd

57

ABCTY 15 a panallelogram with AF and
AL ax adjacent sides. If £A4 =607 and
A8 =240, then (he diagonal 8L will be
tqual to

@ v2AD

(B} /340
(c] 2AD

) 340

B-ABVEB-O-GPL) - A

38, The point i3 equidistant frwm the thres

59,

sides of a terangle ARC, Conzider the
forllovwing statemenis -

o Z040 + AR + 2004 =000
L LB =2/RAC

3. The perpendicuiars drawn from any
print on 04 w A8 and AC ace
always equal

Which of the abwwe statements are
corracl ¥

fa} 1 and 2 anly
(b} 2 and 3 only
fed 1 and 3 conby

fd) ), 2and 3

Conzsider the llowing statemnents
1. W the height of a cyludder i
dovbled, the area of the curved
surface iz doubled.
i If the radivs of a hemispherical
solid 15 ¢oubled, its total serface

area besomes fowrfold.

Wlich of the zhove staterments is/arne
cofrest 7t

(@) 1 only
) 2 omly
{£} Both 1 and 2

{d) Mcither | nor 2




55.

5.

57.

TF AEH] I WA AEfRA S o &
A & wikd 140 wfima v fime 9
war | Ofg whed ) B a0 em £, Gt
RS & St wn 2

fal 155 an /0T

(b 1584 km /AR

fc) 16 km /T2

{d} 1636 km /=T

T FE F 437 ®al & O oRral H
wd T Tt 5y Feae ofast &
=9 F 70 2 m 3k H ot At O
%ﬁaeﬁz@zm%mﬁmﬁﬁﬁﬁu‘i
£t 7 T B | F & 9 W 1 m

=T ST B | . 100 WA Hiew f 3 A,
T €A T ATZ WA it Fwg g 7

{a) % 15600

{1;) E. 16,800

{c) E. 18,200

(d) #fe g i wETEE 2

ABCD TF wE agew w Tt AB
3t 0 HETR g E 7 24 = 607 MR

Afazap, w F=w go s =@
T ¥

() 424D

() ~34D
() 24D

([d] 34D

21

58.

59.

o, o FoE apc & JF1 Taat B
wrEe £ brakttan s ow R
ifay -

| SOAC + ZO0H + Z0BA 2 907
2. LB =2/BAC

3 AR TR ACTR 04 % Tt forg & w2
el ico i c il

ST FE A W WA wE AR T
{a) daa 1 ¥z
(b} = 2 ot s
{z} &A1 #R3
idy 1,243,

freifim st o FEw i .

[ oAty v A A A S w6
C AR #, @ TF FE T SAES SR
B W R

2. afy = W zim & Fren g T
Ft 3 R, A TR 98 EEE
T AN T oA % |

THE T A 8 s oo wE R g7
[a) = |

(W) S 2

fo) :mhzélﬁ.

(dy T FL, T B2

B-ABVE-O-LCPL - A




&0,

§1.

al.

A largc water tank has the shape of &
cuhe. If 128 m® of water is pumpcd oul,
the water level gocs dovwm by 2 m. Then
lbes oaxirnum capacity of the ank is

(a) 512w’
(b)
(%}

()

480 m°
24 m
256 m’
The crewmderemice of a vicle 15 1) om,

The side of e squars inscribed in the
circle iz

(a) 3042 cm
{b) 10 £on
T

5
) EMLES cm
I
i P00

From the sohd gold in the form of a
cube of side length 1 om, spherical solid
balls each laving e sorface amea

7' an are w be made. Assuming that
there s o loss of the matenal i the
process ol making the  balls, tthe
maxirmun aumber of balls ooade will e
{a) 3
{b) 4
{c] &
(d) o

B-ABVYVB-(-L:P1) — A

12

6.

Water i3 Glled in a containet in such a
manner that ts volume doubles every
5 minutes, IF it takes 30 minutes lor the
contamer to¢ e full, i how mnch ume
will it be ane.fourth Fall ?

{a} 75 minutes
b
{c)

{c)

15 mmutcs
20 mioutcs

[75 minntes

30 mewalhe cylinders of same size are
twelted and cast in the farm of cones

having thc samc radiuz and height as
those of the cylinders.

(Consider the follewing statements ;

Staterment T ¢ A maximum of 90 congs
will be obtained.

Staternent I1 ;. The ¢urved surface of the
eylinder can be flaflened
to the shape of a rectangle

but the cutved suiface of
the cone when fattencd
has the shape of mangle,

Wlich o of the following is comact in
tespact of (he above 7

{a]n Boih Staermnent | and Statement 11
are comest and Satement 1115 the
corTect cyplanakion of Satement |

Raoth Statemnent | and Statement 11
arc correct and Statement 1 s net
the correcyexplanation ol Staterent I

[k

Siatement I iz comsct but State-
meml 1 is ned cofect

(=)

Stareiment FOois mor comect bt

Stztemoent 1 is comrect
[ ]

(d)




6F. T T T £ I F AEE TF T
T # Tl T A 128 m! T s e

&l

ol.

L, o amt = o 2 A S e
2 i a2 e

{a) 512 m’

&) 450 m’

{c) 324 m’

{d}h 156 m*

T g 1 9 W0on | 9, A W
st FgAT FNOFRN P

{a} 5042 cm

b 2

T

e) 2

Gt

1042
a

(d)

ITH

1 cm ¥l M & 5 F AT W+ B A
# W TR W, e adw e o
e x' e’ ¥, & AR § | 9% A
e B @2 = A @ i 3 wa i
% erfa e el 2, o A i
e FOEAl ¢

fa} 3

b} 4

fc} £

(d) ¢

23

63, el Pt 3 ot 9 wem T W B

% w5 5 fime § TE e SR B
e @ A g e b o
T E, ot e wE f we Tw-r
£ OB 10

fa) T5 ﬁ'-liEI
(b 15 fome
(c) 20 frme
(175 fime

+ SOTHIT JFFTL S 1] % G fowremd =y

£ o dwe &1 o A A & AoEw
ﬁmmﬁﬁmﬁﬁa‘mﬁ
T T R

ﬁmﬁﬁﬁmﬁwfﬁiﬁﬁfﬁq:

=X |

- afirFag ﬂﬂﬁiﬁﬂfﬂ?ﬁﬁ*
T 1
HTERE W AU R A A
* T 4 TS T AR
Frn s 2 & Fom @
AR o B

oW F e A Pt e

TF WG @ 7
{a} FE7 ] 3T FHA I I 96t # ol
FAF [[ FgA 1 A wE o @

W 1R T S oA E e
FET [T W 1 ww =aEn T
; .

tﬂjw|ﬁﬁlﬁﬁiﬁ$ﬁ11@
At # |

@y FT 1 awr w2 A ww o0
W

B-ABYB-O-GPU — A

: #eF FT TEIE UF AT %




65. An equilateral tmangle ZOC w drawn

6.

inside & square ARCD. 10 angle
AGD = 20, what is tand equal 10 ?

(a] 2—+3
oy 1++2
oy 4-+3

) 243

The diameter of 3 wheel thar takes
452 revolulos to fwove 2 km oand
26 decameire is cqual o

: _{,a}. 15 m

n7.

1:)] ]é—% m
{u], II—SI m
o) 2% m

If X is any point within a square 480D
and ot AX a squarc AXYE 1z desoribwd,
which of the Fellowing 15/are correct ?
. BY=0DZF or E2=DX
2, £ABY = LADT or LADN = LARL

Select the correct amsswer using the
code given below

{a) 1 omly
B 2 only

[y Path 1 and 2

{1 Menher | nor 2

B-ABVEO-CGPU - A

24

68,

T

)

The o adjacent sides of 2 cyelic
qualrilaieral are 2 ¢ and 5 cm and the
angle befween them 15 607, [f the Unard
side 15 3 om, then the tourth side i3 of
lempth

{a) 2 cm
b1 3 cm
(c] 4 cm
(1} 5 cm
Let 4 denote the sct of quadnialemals
having twe diaponais equal and bisaching
gach other. Lel B denote the set of

guadnlatemls having disgonals bisecting
each other al 90°. Lhen A8 denotes

{a) the et of pﬂt@llctugmms-
{b) (he set of rhombuscs
=) the set ol squares

(i e sel of reclangles

A gouare is inscnbed in a night mangle
with ks £ oand p amd has common gt

angle with he tiangle. The penmeter of
the squme is piven by

2ry

(a}

X+y

4x7

{t)

I+y
xy

q,‘u'.rl + 3*

45y

id) ———r
VLR




65. T% WAy Fem p0C @ 9 4800
¥ F5z wufEA fem s 41 af Fm
AGD =28, T tand frw =T F ¢

lal 2-4% -
(B} 1++2
(e] 4-+3

() Z++3

66, TF T T, 9t R 2 km W 26 TR
T H 42 UERU wTn E o v

{a) 13 m
(b} I% m
fc} 23

(dy 25 m

67, X, ™ ABCDF i T Gy ¥ &l Ax
T T T AXYZ w1 Sl e wmm #
Pt § & == o/ o 28

L BN =02 B72=NY

2 LARN =LADEZM L ADX = ~AB2

qie o ™ g oW oW oW T T
ek

@) F

{h) = 2

¢} | HR 2 3Et
iy TA LT E?

5

68, U W wgA o g1 Adw qErd 2om
mﬁumﬁﬁﬁﬂﬁ%ﬁﬂﬂﬂm
60° & | A5 FHT {30 3 om B, W oA
T A A W
(a} 2 em '

(Bt 3 em
(c] 4 ¢m

fd) 5 cro

69, W FfF 4 37 T 3 T e
& P S Rl e % i o @
# fomfm =8 %1 99 difm
At & o o giar & Pk faml
TE A A 0 & ww we R awd

BT A ¥ owufa # 7
ta} A TR = A=
&) TR w1
() T = Fg

(d) A F AT
70. TF o,y 3y gEndt R vw qEEw
i & smiemm T s A e
1 R #R  w wn gt R |
T =1 oiw wn o f ¢

2y
I"|"_].?

{a)

4y
X+ ¥

(b}

2y

(L) —p——
ﬁ'|x2 + }'2

4y
—_—
,"III_:I_-I o }_.3

{d3

B-ABVB-D-GPT! - A




1.

T2,

T3,

Frooy & veclangular sheet of sides 18 om
and 14 cm, a semicircutar portion wil
smaller side as diameter 13 aken out,
Then the area of the remaming sheet
will be

{a] 9% cm’

B 10D eny’

(e 108 em’

(d) 175 cm

ABCL 15 a squarc. If the sides AR amd
CF} are mereased hy 0%, sides BO and
AfY are increased by 0%, then the area

af the resolling reclanzle exceeds the
arca of the square by

(a) S0%
(W 52%
() 54%

d} 6%

A watcT fank, apen at the top, i5 hemi-
spherical at the botlom and cylindncal
aboye . The radioz is 12 m and the
capacily 15 2312w m’. The mtis af the
surface areas of the sphoneal and
cylindrical ponlians is

fay 3:3

{bp 4-35

(cy 1:1

(d} 65

B-ABYB-O-GPU - A

™.

T5.

T

The arcas of three mutually perpendi-
cular Taces of 2 cubeid are x, ¥, 2. [F
I 15 the velume, then xpz 15 equal W

{m V¥

(0 ¥~

{c} 2F

{dy 2¥*

Let I be the volume of an mveried cone
wilh veriex al ongin and the axis of e
cone is akmg positive y-axis. The coane 1;

filled wath water up 1o half af i3 height.
The volume of water 13

¥
(4] —E~

{c}

| ™

¥
(d) £y

Three reclangles £, K, and £, have the
same ared. Thewr lenglhs o, x, and 1,
respectively are such that x, < € < ¥,
I ¥, F,and F, ace the volumes of
the cyhinders formed from the reclngles
R, R, ad K aespectively Dy Joutirg the
pamllel sides along the breadth, then
which one of the following 15 coTect

{a} Pi'{ = k2
® V< <,

) Fy= F, =

4

¥y

W K= F =




T TE——— ——— .

T,

72,

13,

IEcmﬁTHcm’EﬁHﬁTﬁﬂﬁﬁrﬂTﬂﬁ'ﬁm
ST &, B T AR A o W
&1 fewm A s # 1 A = g
w HATA FAT FEA G

fa) 9% vm’
(h) 00 e’
e} 10% cmd

iy 175 cm?

ABCDWE W ¥ | ofz gl 4p FR OO
# 30 i W, e ec AR o
H 20% Iy Ft 7w, @ whot T
BT T 3 Fawa i feen afim S v

{a) S04
(B} 5%
o] S4%

d) 3%

T 9T EH FOH g £, A @
KW B A TR B 9w 2 | ww
o 12m 2 o e 30122 @ B
Tﬁﬂmaﬁtaﬂ'—lﬁnﬁmﬁ;gﬁmm
W WA R v

(ay 3:35
(b} 4:3
ey 1:1

(d} 6:5

27

74. T T FF TORR TR WA ¥ A

Ta,

Ta.

@)

Xz B Al smEm v R, & one T
TR B 7

(a] ¥

W P

{c) 2V

(dy 28

e Ffm s qefag w s oam@ o
it i = waw 12 R g .
HH WETEHF - A & AT F | A R
Feett el TS A at A
N T AT T

(a)

R B 3

)

(3

ra | =

gL ILGT .ir W A i
%|aﬂﬁmm xl,x:,iﬂt.r'ﬁ'ﬂ
e F x,{xr‘iﬁ%l iy wTaEi
R, dtt R, F1 e e wAiw g
it A TR T WA e e
F. ¥, o V2, 9t frafafas § & o
GG
LR AR
by ¥, < F, = P
tch ¥ = ¥, = F,

(d) [-’] L J!-"I < ¥

B-ABYB-O-GI'U - A
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7.

18,

19,

B0,

1f the swriace aren of @ cube iz 13254 an®,
then the length of 1ts diagonal 13

{a} 442 cm
(b} 4343 em
{c) 472 cm
(@ 4743 em

The atea of a trapezium is 336 cm’. If
its prraltel sides are in the oo 5 : 7 and
the petpendicular distance briween thetn
is 14 cmy then the smalter of the paralke]
shles i3

(a)y 20 cm
(b} 22 em
(cy 24 om
{d) 26cm
How many spherical bullets each of

4-:;:11 in diameter can be made out of a
cube of lead whose edge is 44em ?

{a) 2541
k) 2351
{c) 2561
iy 2571
A rver 25 m deep and 45 m wide is
flowing at ths speed of 3-5 km/hour

The amount of waler thal run: o the
s per mlinnle s

{a) 6650 m’
(b} 6750 m'
(c) GRS o
{d) 6950 m"

B-ABVE-O-GPU - A

A i g

AR is a line segmenl of length 22, with
M as mid-point. Semicircles are Jdrawn
un one side with AV, MP and AH an
diameter as shown in the above figune,
A citche . with cenme 0 -and radius # 15
drawm such (hay this circle touches all
the three semiciteles. The value of r s

(a} %ﬂ
R
i) ‘i-:
@ 3

)

From an exiernal pomni F tangents £id
and PR are drawm to 1he cicle as
shown in the above hpgure. ©f is the
tangent o the circie at £, IF AF = 16 ¢m,
then the perimeier of the tnangle PCD 12
cqual o

(1) 24 cm

28 cm

fo) M cm

di 32 cm




——

.

TR,

7 UF v A qE S 13254 o
8, 7wk fael S vwe am @

{21 444 em

{k} 44«."3 Ch1

{c) 4747 cm

iy 4747 em

T HA 7 S9FA 136 om” 2 | 78 Tk
W WA 527 & s A & ik T
A F I T 1dom B, A EEER
TAA A & B qA fY e o 7
fa} 20 cm

(bl 22 om

: (el 24 ¢m

T,

id) 26 cm

" F UE A, faed e 44 om B,
4 con =W Fit et Tt ottt am
T HEar § 7

{a) 254

). 25461

{c) 2561

dy 2571

25 m e AR 45 o T2 T T 36 km
wer o YR R AE TH £ | T & A
2 I

(a) 6650 m’

tbp 6750 m*

1 G850 m®

{d) 6950 m* -

24

B2

4 A . F
AR 2o w1 UF YmEe 2, fmsy wm

g a2 | B 5 3 By o i oy
B R TE A AN, MB A 48R
= = wagE d A ¥ ) 82 o8k
e r F1 % I W wEAR G AW

& & 7m0 o AT el = ek
B oW oy 2P
pF
() T
a
hL=) 3
a
fit 3
fi
(d) 7
A
C
e
£ H:'_‘:::up
..-F""ﬂfﬂ;
r 0

T 9 9, fet aed R e A, T
w gy oo pr oA A E A R
Rt At w3 g e
WD UE TR ¥ ) 3R 4F = 16 em

at B m P W aform Fm R
(a) 24 em -

M 28 om

{ey 30 cm

() 32 cm

B-ABYVR-O-GPU — A




In the above Agure, ABCL? is a parallelo-
pram. Fois g point on SO such thal
HFBOPC=1:2 D and AR when both
prisduced meet al . 16 area of angle
BPO iz 20 square unit, the area of
mangle DOF 15

(2} 20 sguare umt
{h} 3D square wet
(c) b squate umil

(1] ™one of the above

. Chord O intersects the diarmeter A5 of

& carcle al mightl angle at a pevrtl 2 0 the
ratee 1: 2. If diameter of circle 15 &, then
O 15 egoal o

-
@) ¥

b

2424
o) =

z'u'lf'l:d'

{d}

B-ABVE-(-GPL — A

85,

" 86,

&7,

)

A vitele of madius rois inscribed in a
repular polvgon with # sides {the circle
toughes all sides of the polygon}. If the
pettmeter of the polyaon 13 p, then the
arca of the polygon is

() {ptap
b (p-n)r

Fr
{c} 5

() MNone of the above

The LCM of two numbers 15 12 times
thear HCF. The surm of HCT and LEM
15 403, I one of the numbers s 53, then
the othet number i3

2y 114
) 124
(c) 34

Wy 138

The value of {{I-Eﬂl-ﬁ] 1%
fa} 1

100
ey 57

100
c) —
l: a9
1230
H
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2
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el S
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THHET p &, O WEYE G dEe T 2 7
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By (2p - wir

il
fc} 7

(d) ST 3 & w2

T FLOM F HOF 81 12 9
£ HCFal LOM =1 o an3 2 | of
9 HEAT # | 1w 03 R, W WA Fen
T R?

fa} 124
thy 128
ey 134

{d) L38

(0-63+0-37) F1 W w1 R ¥
{al 1

(L1
fh}'_ T

166
{c) E;-
1 M)
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85,

A sum of Hs 10MMH s deposited for
i year =i the rate of interest 10% com-

poonded half yearly, What will be the '

mtercst at the end of one yvear ?

(2l EBs. 1K

" (b} Bs. 1023

&9.

o,

01.

fry Rs, 1350
fd) Rs. 1106
In a mixure of milk and water of

volume 30 ligre, the rate of milk and
water 1§ 71 3. The quantity of water to

be added w the mixture to make the .
‘el of tailk apd water L-2 ts

{2} 30
32
(e] 33
() 35
The difference of maximum ;I-'a.llll:'ﬂ
of the expressions {6+ 5x —x7) and

{y-6— 1) for apy real values of x and
v iz

{a) 16
hy AT
i) 1%
{d} 19

A cluck iy started af noon. By 10 minutes

past 5. through what angie, the hour hand
nrves 7

fal 164
b} 1457
{e) 1307
(dy 155
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92, The mitnknum value of
cosT + cosp — Los'z

93,

I3

(] —I

b} O

(=)
(d]

)

The value of

JEcutz[E

—Eswi(i] + Euﬁﬁj[
4 3

A

15 cqual e

(a) 3

(bl 243
{a)

A 33

3

o

If r=—, then the value of
216

1

i
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Heatida w1 & T AR AR 105 TEAfE
=R Ft T W v 10,000 H wh o oad
. fom wn At &) o o & ¥
T =R T Eem ¢

(2] T 1004

{B] B 1525

¢} = 1050

{d} & 1t

o R T & T & a0 et anw
H gm ol TR T s 7 AR | e
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A AT |2 R A f

{a) 30

{h} 12
¢} 33

{dy 33

=R {6+ Sx - x') #R (p—6-y)
e B O T el

{a) l6

7

{c} L2

d 19

T TE T ATIR § W 9 e A
? | $wR 0T AT B R g e
R

{a} 160°

(b 145

(cp 150

{(d} 1s55°

13
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M,

cus'x + cosTy - cos'r T IAAH AW A

7

@ -1
(b O
@ 1

) 2
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& W TR TR R Y
(a3

b 243

(c} 3

@ 3

216 {1- 13
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095, How many right angled triangles can be 9E. If a vamable takes discrete values o + 4,
furmed by joinmng the vertices of a Cou=38, e-F5 w-3, -2 2t0],
cubxd * a+ 5 and o — 05 where 4 = 0, then the

' median of the lata get i
{a) 24
ial a-25
28
(®) thy e-1125
(ch 32 () a-L3
{d} Hﬂn: ﬂr lh‘ﬂ Hh-:‘.‘l"r'l:': {d:] ﬂ—[l"-lrj

06. The average weighl of students 1noa 9. If each of # numbcos x=ili=1,23
clazs i3 43 kp. Four pew shudents are o-n) is replaced by {f ok D, then the
admurted to the class whose weighis nNEW TOCET i5
are 42 ke, 36-5 ke, 19 kg and 425 kg
respectively, Mow the average weight of 0l

. thve smdents of the clasy 5 423 kg The (a) -
numbeer of siudents in the bepinning was Z
(@) 10 ay ME+D
2
) 15
() (r+1He+2)
) 20 3
W 25 @ e T
3

97, Four years ago, the avernsge spe ol . . .

A and B was 1% vears. Mow the 1. The weighted a.nlhme.tlc mean of first

average ape of 4. K and C is 24 years. 10 matural nun_ihe:rs w‘tu:rse weipghts Na;.'r:

Afier § years, the spe of  will be gqual to the comcaponding numbers i
equal to

{a) 32 years @ T

B 28 yeas ) |4

(€] 36 wears {) 15

fd} 40 years fd) 3K
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4h.

47,

T HAI & 4T W At e o
frqa = 1 wEa f v

{a) 24

28

() 32

(dy wwfw A 8w A

e H TerenfiE w sftem W 43 ke
B | 2o a9 7 9w A0 fEEnid ¥ ome
frn famer W/ @ 42 kg 265 kg,
A0k AT 42-5ke | o= Faw F Rrenthat

w1 A TR 425 kg ¥ |y 3 ww #
i} 4t wwm w0 4t ¢

tal 1D
®) 13
&) 20

) 235

w° R W, A #R g dr e o g
15 e ot | s 4, B CF A ey
247d 21 8 of 9FEw ¢ wg W
i 7

{a) 32 g
by 28 o
) 36 L

(dy 40 a4

1040,

33

o3,

o = W W A o+ 4, 2- 38,
a-2% a-31, a-2, a+05 a+5 HE
a - (-5, T o= 0,57 §, 4 FiF
eI W e #m R

{a) a-23
by a- 125
) a-1-13

{dy a-0-75%

7l ek aiG=1, 2,0, L@

Tl R (i + 1)x, gET WhEntE
TFar =Imr, o Amr oAvew T OgAN O

el
2

(a)

win 4+ 1)
2

()

(H+ 1M+ 2}

(e ™

(d) (h+ I}:E_" +2)

TEAl 10 vAE denat =, fe ww
WA oEd % e f, WA TR
e fEmh avew & ¢

(a) 7
w14
[c) 3%
(dy 385
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w2 wm % fan Wy

7
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